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Test method of contraction of the impermeable
graphite phenolic aldehyde agglomerant

2009-04-29 £ % 2010-01-01 £ 5%




GB/T 13465.5—2009

Tt

]

AR A X T2 [ A RS R 5 P 2 FRE ASTM C695 . 2000( A7 B8 Tiif FE 38 ik 36 7 v ), A4 5
ASTM C695:2000 i) — S FE B R HE 2L

AFR S S B ASTM C 695:2000 HisCRE JB AR R 25 X A 35 2 19 A 37 P A 238 1 I8 RS 22 0] Wi 40 2% 3K
BETE IR N2 22 0 B

AR ER 4y i Hp A A AE T E A R

AR A E RS R L T SRR Z RS,

AR R o3 A A RARE TALAR S B s A e B3t Be LIRS 224k T A BRA H g 3l
AR A BRA R LB R A B 7 B RO B IR RN T K R A SR LA BR A F
EMEABREARAF.

ARy F B G JEA KA R DU Wk e R 2 A R

]
i =



GB/T 13465.5—2009

NEE A EMEEMETNSE RN T E

1 eHE

GB/T 13465 1A% 41 ML T 46045 1 77 0 RS B 0 T OB I L8 I
P A B 2
A SIE T R A

2 MesI AxH

T A SR B Al GB/T 13465 BYARHES 4 051 F I A AHR 7 09 453k . ML H B89 51 F 3
1 FEBE J5 T A A AE 2B O AL G 515 1 N 250 BB TT RS AN T8 A &R 43 o SR 1 » 58 il AR 40 A 358 43 35 1
RIS 45 5 i 5 Je 15 ] ol FH 3K 28 ORI BBt BOAS . L& ASTE B 51 SO e ECE A E AR
A .

GB/T 13465.1 ANiEtEA sBp R At ae il g oy i a0

3 ARIFFENX

GB/T 13465. 1 #5219 LK T FIARTE A SGE T AR5
3.1

NEMAEMEMEFWIAEZE  contraction of the impermeable graphite phenolic aldehyde agglom-
erant

S LAAN 375 1 A 35 T I R 2 ) A4 R AE THIRLYS 205 o APRMTE TH IR S B 2 He sl R B =2 LE 1 7T 40
4 2. iEE

AR A A4 GB/T 13465, 1 A4 RHE - BLAT A T 51 LAE -

a)  HLPMESE .0 C~150 C M +2 C;

b T4 .0 mm~25 mm,100 mm~125 mm, 43 E{H 0. 01 mm,
5 X
5.1 HURE B FEf A5 4 GB/T 13465. 1 (A5 EHLE .
5.2 IR B85 ke 7F 28 'C~32 CHYLEE N k4T 48 h B4k . &0 TG AN 7 1 A 25 T I Al 42
FIe s R R S8 120 mm X 15 mm X 10 mm.,
5.3 AR IR N G R L BURE B R R S T R AR G TR 25 R R T 0. 03 mm, MR Ra<C1. 6 pm, %
R Jite, T o A B 1 18 5 XU T i

5.4 R RE IR N JC R AL 43 )2 AN H A S e 0B ORS 2E BE A BREG .
5.5 HHIKHEALTF 54,

6 RSB

6.1 CREiURE T i J) B 2090 45

6.2 FEZ T AR T8 R E] 0. 01 mm, 4 B = AN AS R B i L O AR S 44 .

6.3 CRRCREFHCE T AR L AT R E A Ab BEL N T 85 Cd L TR E D 10 C/hs85 C~130 C
L THEE S 15 C/h, 130 CHEE 5 h 5« 76 AR N A 2= 4l





